Lomma BK

Partavling hcp 2023-11-16

Partavling, 10 bord, 20 par.

Antal brickor: 22. Medel: 198.0.

Plac Par Poéang % Namn MID Klubb
1 8 247.8 62.56 Mats Wallin - Marianne Lihrs 57095 29132 Lomma BK - L6ddekdpinge BS
2 2 229.9 58.05 Kjell Hogberg - Eva Lindgvist 11797 64900 Lomma BK
3 6 223.4  56.42  Britt Smeby - Agneta Paradis 54626 57348 Lomma BK - Léddekdpinge BS
4 16 2188 55.25 Christina Westesson - Birgit Larsson 31384 91263  Bjarreds BK - Lomma BK
5 13 209.7 52.96 Gunilla Eriksson - Bo Eriksson 64721 64720  Bjarreds BK
6 5 203.3 51.33 Lilian Mauritzon - Marianne Olsson 54625 202359 Lomma BK - Lindesbergs BS
7 7 202.9 51.25 Christl Carlsson - Lennart Badersten 46804 54621 Lomma BK
8 20 202.3 51.08 May Svensson - Kjell-Ake Lundh 53195 202276 LommaBK
9 3 202.0 51.01 Marianne Rosén - Ingegard Hakansson 83634 62452 LommaBK
10 14 198.3 50.08 Annika Thunman - Rolf Palmquist 58451 62655  HOokdpinge BK
11 12 192.8  48.69  Bertil Molin - Mimmi Lundstrom 52890 55149  Lomma BK
12 10 191.0 48.23 Margareta Welander - Rita Bergman 54517 31385 Lomma BK - Bjarreds BK
13 15 190.5 48.10 Ruth Andersson - Kristina Kinnman Stark 61744 61975 Lomma BK - Bjarreds BK
14 19 189.3 47.80 Gunnar Jonsson - Siv Jonsson 64663 64664  Bjarreds BK
15 18 189.2 47.78 Marie Moncke - Sonja Bergqvist 32633 87764 Lomma BK
16 17 181.3 45.79 Birgitta Rosengren - Eva Nordh 54516 46088 Lomma BK
17 1 180.5 45.57 Anders Mdller - Trygve Fahlstedt 67199 83316 LommaBK
18 11 176.8  44.64 Barbro Linde - Birgitta Sturfelt 38006 61976 Lomma BK
19 9 171.2  43.22 Lennart Svensson - Ingrid Peterson 35387 87775 LommaBK
20 4 159.1 40.18 Ulf Ekman - Lydia Rosberg 14703 36169  Sodra Sandby BK - Lomma BK
1 & Kn2 Bésta kontrakt 2 s E2 Basta kontrakt 3  KDKn1085 Basta kontrakt
Nord vED84 3v¥ ND-1-100 Ost v 106 4v O D -2 300 Syd v EKn96 5NT S =460
Ingen ¢ 842 NS ¢+ ED942 ov .-
#8543 & ¢ v & NT #E984 & ¢ v & NT #E93 & ¢ v & NT
4985 4 K1073 N6 4856 4 DKn10653 484 N 10105 7 9 4 E974 46 N9 5 111111
v KKn7 v32 S6 4756 vKD9 vKn75432 S 10105 7 9 v D42 v75 S 9 5 111111
+ KKn109 ¢ ED65 06 8577 + 1075 +6 03286 3 + K10987 ¢ Kn5432 048122
#EKD #1096 V68587 *6 #KKn107 V32863 *5 #KKn1074 V 4 8 1 2 2
« ED64 4 K97 432
v 10965 vE8 v K1083
+73 + KKn83 + ED6
*Kn72 #D532 «D862
Par  Kontr Ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
6 12 44 V-2 v8 100 180 00| 8 16 3NS+2 4Q 660 180 00| 2 12 44 N+2 &4 480 18.0 0.0
1 11 3NV-1 v4 50 90 90| 4 17 3#aN+3 44 170 16.0 20| 8 15 4v S+1 &5 450 140 4.0
4 17 3NV-1 v4 50 90 90| 9 18 3¢ N+2 48 150 140 40| 9 17 4v S+1 ¢7 450 140 4.0
7 14 3NV-1 v8 50 90 90| 1 11 2¢ N+2 v2 130 8.0 10.0(20 19 44 N+1 ¢5 450 140 4.0
8 16 3NV-1 v4 50 90 90| 3 15 3¢ S+1 &6 130 8.0 10.0| 7 13 4v S= &5 420 10.0 8.0
9 18 3NV-1 v4 50 90 90| 7 14 3¢ S+1 &6 130 8.0 100| 5 18 24 N+4 &7 230 8.0 10.0
10 20 3N V-1 v4 50 90 90|10 20 3¢+ S+1 46 130 8.0 10.0|14 3 3v S+2 ¢7 200 6.0 12.0
13 2 3NV-1 v8 50 90 90|19 5 3¢S+l &6 130 8.0 100 1 10 44 N-1 2 -50 3.0 15.0
19 5 3¢ V-1 ] 50 90 90| 6 12 34 S= vK 110 10 17.0| 6 11 4v S-1 *5 -50 3.0 15.0
3 15 3NV= v8 -400 0.0 180(|13 2 34 S= «Q 110 10 17.0| 4 16 6v N-3 46 -150 0.0 18.0
4 & K75 Bésta kontrakt 5 « E643 Bésta kontrakt 6 485 Bésta kontrakt
Vast vE762 3v V =-140 Nord v743 5NT N =660 Ost v 1094 34 O =-140
Alla ¢ 654 NS ¢ KKn10 ov + EKD983
#973 & ¢ v & NT #EDS8 & ¢ v & NT »32 & ¢ v & NT
+D9 4432 N4 4476 a7 4DKn10952 N 9 10108 11 4D9632 4 E1074 N6 8447
vD8 v K10943 S 44476 vD852 vE6 S 9 10108 11 v D85 v KKn72 S 68447
¢+ DKn93 ¢ EK10 089 96 6 ¢D9854 ¢2 033252 ¢72 ¢ Kn6 075995
#D8642 #EI10 V89966 #Kn73 #6542 V33252 *ED9 *K54 V75995
« EKn1086 4 K8 & KKn
v Kn5 v KKn109 v E63
¢ 872 +E763 + 1054
#KKn5 #K109 #Kn10876
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
14 3 3NO-2 46 200 180 00| 2 11 3NS+2 ¢+8 660 150 30| 8 14 3v0O-2 L) 200 18.0 0.0
1 10 3vO-1 4A 100 150 30| 8 14 3NS+2 ¢4 660 150 30| 5 17 4v O-1 T 100 140 4.0
2 12 3v0O-1 «5 100 150 30|15 4 3NS+2 ¢5 660 150 30| 7 12 44 V-1 ¢A 100 140 4.0
5 18 29 O+1 4] -140 90 9.0(19 18 3NS+2 ¢4 660 150 30|19 18 34 V-1 +Q 100 140 4.0
7 13 2v O+1 T -140 9.0 9.0| 3 13 3NN+1 &J 630 100 80| 3 13 4¢ N-1 aA -50 10.0 8.0
9 17 2v O+1 4A -140 90 90| 7 12 3NN= 49 600 6.0 120| 1 20 34 V= ¢ A -140 5.0 13.0
20 19 2v O+1 aA -140 9.0 90| 9 16 3NN= «Q 600 6.0 12.0| 2 11 24 V+1 ¢ A -140 5.0 13.0
6 11 24 S-2 vQ -200 3.0 150|110 6 3NN= 49 600 6.0 120( 9 16 24 V+1 ¢ A -140 5.0 13.0
8 15 24 S-2 vQ -200 3.0 150| 1 20 4vS-1 a7 -100 10 17.0|15 4 24 V+1 ¢ A -140 5.0 13.0
4 16 34 S-4 vQ -400 0.0 180| 5 17 3vS-1 a7 -100 10 17.0|10 6 5¢ N-3 s A -150 0.0 18.0
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7 4 EK93 Basta kontrakt 8 & EKKn Basta kontrakt 9 4 D10962 Basta kontrakt
Syd v 108632 54 S =650 Vast v K108543 6NT N =990 Nord v- 7# N D -5-1100
Alla +9 Ingen +E9 ov + KD
#E108 & ¢ v & NT »E6 & ¢ v & NT #DKn10752 & ¢ v & NT
48765 o- N 3 5 11118 210632 4 D987 N 1110128 12 & EKKN753 &- N86 153
vD5 v Kn97 S 3 5 10118 v Kn92 v76 S 1110128 12 vE54 vK1087632 S 8 6 1 5 3
¢ KKn2 ¢ ED1053 088225 ¢ DKn643 ¢ 107 023151 + E98 ¢ 743 O5 7 128 7
#K654 #D9732 V88225 &5 #KKn872 V23151 *3 &E94 vV 57 128 7
4« DKn1042 454 484
v EK4 vED v DKn9
+ 8764 + K852 4 Kn10652
+Kn #D10943 »K86
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 10 44 S+1 v5 650 180 00(16 5 6NS= &5 990 180 00| 5 15 44V -4 ¢+K 400 18.0 0.0
11 7 44 S= v5 620 150 30| 8 13 6vy N= ¢T 980 16.0 20| 2 20 34 V-2 ¢+K 200 150 3.0
16 5 44 S= ¢J 620 150 30| 2 10 4y N+3 47 510 140 40| 3 11 44 V-2 T 200 150 3.0
4 14 34 S+2 &4 200 120 6.0(18 17 3NN+3 &J 490 120 6.0(10 7 6v O-1 »8 100 120 6.0
1 19 34 S+1 ¢+K 170 8.0 10.0| 1 19 4vy N+2 49 480 7.0 11.0| 4 13 5&N-2 v8 -100 100 8.0
3 12 34 S+1 *5 170 8.0 100| 4 14 5v N+1 49 480 70 11.0(12 8 4vO= a8 -620 8.0 10.0
9 15 24 S+2 2 170 8.0 10.0(11 7 4vy N+2 48 480 7.0 110 1 18 4v O+1 #K -650 3.0 15.0
8 13 Pass 30 150(20 6 4vy N+2 «8 480 7.0 11.0| 6 19 4v O+1 #8 -650 3.0 15.0
18 17 Pass 3.0 150 3 12 4vy N+1 T 450 10 17.0| 9 14 5v 0= 8 -650 3.0 15.0
20 6 44 S-1 2 -100 0.0 18.0| 9 15 4y N+1 ¢7 450 1.0 17.0|17 16 4vy O+1 %6 -650 3.0 15.0
10 « EK764 Bésta kontrakt 11 4 Kn763 Bésta kontrakt 12 43 Bésta kontrakt
Ost v EK3 54 S =650 Syd v Kn1093 7¢ V =-1440 Vast v Kn765 34 V =-140
Alla + K1096 Ingen +53 NS ¢ E843
*9 & ¢ v & NT #1052 & ¢ v & NT #10632 & ¢ v & NT
453 «D N5 7 11116 49854 #EK N30222 4 KD1086 & E754 N7 7947
v76 v Kn54 S5 7 11116 v EK5 v 8642 S30222 v10 vE942 S77947
¢+ ED54 4832 086 213 ¢ E1087 ¢ KKn62 O 1013111111 ¢ DKn65 ¢72 O55 496
#KD1083 #EKn7652 V 8 6 2 1 3 &K6 &ED4 vV 1013111111 987 #DKn5 V55496
4 Kn10982 4 D102 & Kn92
v D10982 v D7 v KD83
¢+ Kn7 + D94 + K109
*4 #Kn9873 #EK4
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
6 19 54DO-3 ¥8 800 180 0.0(16 15 4v O-1 »8 50 180 00| 5 14 1v S+2 46 140 180 0.0
1 18 44 N+1 &A 650 100 80| 1 17 3¢ V+2 v] -150 15.0 3.0| 2 19 INS= oT 90 140 4.0
2 20 44 N+1 &A 650 100 80| 7 20 3¢ V+2 vJ] -150 150 3.0| 7 20 INS= 46 90 140 4.0
3 11 44 N+1 #A 650 100 80| 3 10 2¢ V+4 v9 -170 120 6.0|16 15 INS= 46 90 140 4.0
4 13 44 N+1 #A 650 100 80| 5 14 5¢ V+1 v] -420 100 80| 4 12 24 V-1 v6 50 100 8.0
5 15 44 N+1 &A 650 100 80| 2 19 3NO+1 &7 -430 50 13.0| 1 17 4v S-1 +Q -100 7.0 11.0
10 7 44 N+1 &A 650 100 80| 6 18 BNO+1 &7 -430 50 13.0(13 9 INS-1 48 -100 7.0 11.0
17 16 44 N+1 #A 650 100 80(11 8 3NO+1 9 -430 50 13.0| 6 18 24 V= +8 -110 40 14.0
12 8 5&V-3 «A 300 20 16.0(13 9 3NV+1 a7 -430 50 13.0( 3 10 34 O= &K -140 1.0 17.0
9 14 34 N+1 #A 170 0.0 18.0( 4 12 3NO+2 &7 -460 0.0 18.0(11 8 24 V+1 ¢ A -140 1.0 17.0
13 4 Kn83 Basta kontrakt 14 498762 Basta kontrakt 15 4 K10962 Basta kontrakt
Nord vKnl0 3v O =-140 Ost v2 7NT O =-1520 Syd v K8632 5& V D -3 500
Alla + EKKn86 Ingen + Kn8 NS *72
*E107 & ¢ v & NT #K9873 & ¢ v & NT *7 & ¢ v & NT
4 D10654 #4EK N47 322 « D10 # EKKn3 N30210 «EDKn3 454 N5 5 108 7
vE4 v KD8532 S47 322 vE108 v KD6 S30210 v 104 vKn9 S 55 108 7
493 ¢+ D4 086 9 86 ¢ EK2 ¢ D10753 O 1013111113 + K96 ¢ EKn854 086 346
#DKn64 %953 V86 986 #ED1052 #6 V 1013111213 #KKn102 #D864 V86 346
4972 454 87
v 976 vKn97543 vED75
410752 4964 + D103
*K82 +Kn4 #E953
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 11 4v O -2 ¢T 200 180 00| 2 18 3NO+3 ¥5 490 17.0 10| 5 12 2v S+2 3 170 170 1.0
8 10 4v O-1 ¢T 100 160 20| 3 20 3NV +3 a2 -490 17.0 10| 8 20 2v S+2 «A 170 170 1.0
2 18 3vyO= *7 -140 90 90| 4 11 3NO+4 v5 -520 7.0 11.0| 3 19 3v S= +6 140 12.0 6.0
3 20 2vO0+1 2 -140 90 90| 5 13 3NO+4 v7 -520 70 110| 6 16 3v S= ¢+K 140 120 6.0
7 19 34 V= ¢ A -140 90 9.0 7 19 3NO+4 +3 -520 70 110(18 7 3v S= ¢K 140 120 6.0
12 9 3v 0= *T -140 90 9.0( 8 10 3NV +4 a7 -520 70 110(17 2 24 N= ¢4 110 8.0 10.0
15 14 3v O = 2 -140 90 90|12 9 3NV+4 &3 -520 70 11.0( 4 10 24 V-2 &7 100 5.0 13.0
16 1 2v O+1 T -140 90 9.0(15 14 4NO+3 +3 -520 7.0 11.0( 9 11 4¢ O-2 vA 100 5.0 13.0
17 6 2vO+2 +7 -170 20 16.0(16 1 3NV +4 49 -520 7.0 11.0(14 13 34 O= A -110 1.0 17.0
5 13 4v O= ¢7 -620 0.0 18.0(17 6 3NV+4 &7 -520 70 11.0(15 1 3¢ 0= vA -110 1.0 17.0
16 4 E9754 Bésta kontrakt 17 4 E3 Bésta kontrakt 18 &« KD9 Bésta kontrakt
Vast v 985 2NTND-1-100 |Nord vKn4 6¢ O D -4800 Ost v 1052 24 O =-110
ov + ED5 Ingen + D865 NS + K97
+D2 & ¢ v & NT #KKn1085 & ¢ v & NT #E854 & ¢ v & NT
4K1086 &D2 N48567 » K86 1074 N 125 3 9 8 2108763 & E42 N6 7557
v K10 v EDKn72 S48567 vKD109853 v 72 S 125 3 108 v K863 v 974 S57557
+ 109 ¢ Kn87 085776 ¢ Kn72 ¢ EK943 O18834 +54 ¢ ED3 075886
#K10876 #Kn43 V85876 »- #943 V18834 *97 #KDKn3 V75886
& Kn3 # DKn952  Kn5
v 643 vE6 v EDKn
+ K6432 + 10 + Kn10862
#E95 #ED762 #1062
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
319 2¢v0-2 43 200 170 10| 9 10 5 S+1 vK 420 180 00| 7 17 INO-2 v] 100 170 1.0
9 11 2¢v0O-2 aJ 200 170 10| 5 11 54 N= ¢A 400 160 20|18 3 INO-2 2 100 170 1.0
8 20 INS+1 *6 120 13.0 50| 6 15 4v V-7 «A 350 140 40| 6 15 24 O-1 vA 50 120 6.0
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17 2 INS+1 &7 120 13.0 50(16 2 34 S+l vK 170 120 6.0( 9 10 INO-1 +6 50 120 6.0
4 10 24 N= vA 110 90 9.0 4 20 4v V-3 LN 150 100 80|19 8 24 V-1 +9 50 120 6.0
14 13 3¢ S= vT 110 9.0 9.0(13 12 44 N= ¢A 130 8.0 100| 1 14 140= +J -70 8.0 10.0
5 12 2¢0-1 3 100 6.0 12.0(18 3 4y V-2 «A 100 6.0 120 4 20 INO= +J -90 5.0 13.0
18 7 24 N-2 vA -100 40 140(19 8 5#N-1 ¢A -50 40 140( 5 11 INO= ¢J -90 5.0 13.0
6 16 2v O= aJ -110 1.0 17.0| 1 14 44 N-2 ¢A -100 20 16.0(13 12 24 O= &T -110 1.0 17.0
15 1 2v 0= aJ -110 1.0 170| 7 17 3v V= s A -140 0.0 18.0(16 2 24 O= +8 -110 1.0 17.0
19 10643 Bésta kontrakt 20 « EKD8 Bésta kontrakt 21 « EKn10653 Bésta kontrakt
Syd v 98 ANT S =430 Vast v10 4v S =620 Nord v K109 44 N =620
oV + E63 Alla +D10764 NS ¢ 32
#KD103 & ¢ v & NT #ED9 & ¢ v & NT *72 & ¢ v & NT
495 4 Kn872 N 9 108 9 10 & Kn7 4109542 N 7 109 8 9 87 4 D92 N9 6 8 107
v Kn5 v EK764 S 9 108 9 10 vK74 v Kn85 S 7 10108 9 vD74 vES85 S 96 8 107
410872 54 043543 ¢ KKn95 ¢2 06 3253 ¢E764 ¢KDKn1l08 O 4 7 4 3 6
#EKNn984 &52 V 43543 #10763 #KKn85 V632514 #9853 «#D10 V47436
&« EKD 463 s K4
vD1032 v ED9632 v Kn632
+ KDKn9 + E83 +95
*76 *42 #EKKn64
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
6 14 3NS+1 &9 430 170 10| 8 18 3NN+3 &5 690 180 00| 8 17 24 N+2 +J 170 180 0.0
20 9 3NS+1 8 430 170 10| 7 16 3NN= 8 600 13.0 50| 2 14 24 N+1 vA 140 150 3.0
2 15 3NS= &4 400 11.0 7.0(12 11 3NN= &5 600 13.0 50(18 4 34 N= ¢+K 140 150 3.0
7 16 3NS= 9 400 11.0 7.0(17 3 3NN= 8 600 13.0 5.0|11 10 3¢ O-2 A 100 120 6.0
8 18 3NS= ¢2 400 11.0 70(20 9 3NN= »8 600 130 50(12 1 3¢ 0-1 a4 50 9.0 9.0
12 11 3NS= 8 400 11.0 70| 5 10 2NN+1 8 150 8.0 100(20 5 3¢ O-1 a4 50 9.0 9.0
1 13 2NS+2 LY 180 6.0 120( 2 15 3NN-1 »8 -100 50 13.0| 3 16 34 N-1 *+ K -100 50 13.0
19 4 1¢ S+3 v] 130 40 14019 4 3NN-1 a2 -100 50 13.0| 7 15 44 N-1 *T -100 5.0 13.0
5 10 44 N-1 vA -50 1.0 17.0| 1 13 3NN-2 8 -200 1.0 170| 6 13 3¢ O= a K -110 1.0 17.0
17 3 44 N-1 vA -50 1.0 17.0| 6 14 5¢ N-2 v8 -200 1.0 17.0( 9 19 3¢ O= &A -110 1.0 17.0
22 D107 Basta kontrakt
Ost v K7 5v O =-650
oV + DKn653
#632 & ¢ v & NT
K93  4Kn85 N35243
vD942 vEKn103 S35243
+ K9 410872 O 108 119 9
#EKD7 #Kn8 VvV 108 119 10
&~ E642
v 865
¢+ E4
#10954
Par Kontr Ut Res Poéang
6 13 INV= ¢+ Q -90 18.0 0.0
20 5 1sV+3 +Q -130 16.0 2.0
3 16 INV+2 +3 -150 14.0 4.0
2 14 3vy V+1 &6 -170 110 7.0
11 10 2v O+2 ¢A -170 110 7.0
18 4 INV+4 +5 -210 8.0 10.0
7 15 4y V= +3 -620 40 14.0
8 17 4v O = v5 -620 4.0 14.0
12 1 4v 0= ¢+ A -620 40 14.0
9 19 4v O+1 +A -650 0.0 18.0
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